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Its place is rented to him — 19 oW MWIPR

OVERVIEW
MBoIN mentions that the rental of the Awy» space was accomplished through
payment. M90IN explains why it could not be accomplished through 1°5°%rm.

—'nt) AT 99V 9PV SINp NOYDA
In the X820 of this 71wn it states that they received rent from one another-

ndOIN asks:
—>1995na 2999wnY IN DAY PIRYAY 1Y 757 99W 1937 SNNN 9NN ON)

And if you will say; why was it necessary to receive rent; "1 could have
lent the ¥pp to them or to rent it to them through 2°%n 1°1p?!

N1B0IN answers:
P9IYNA M9IPI NN MIPIWI NIRYT 915 Y

And one can say; that lending and renting cannot be acquired through
192991 1°1p, therefore it was necessary to have 503 1°3p.

SUMMARY
798w and M°ow cannot be 71p3 through 1°9°%m.

THINKING IT OVER
What would be the advantage if they would be 121 the 2pn with “19°5r as
opposed to 703 [in either case they have to pay]?!°

"3"1 received rent from >"1 and ¥"1 for the place where the wyn was found. This insured that they acquired
possession (as a 10W) of the ¥p7p on which the M wy»n were found. This enabled them to acquire the wyn
(through %7 1Ip or 23X 7°3) as the X3 concludes. A 1Ip 7wyn is required to become the tenant.

* See ‘Thinking it over’.

3 By 1o'on 11p the acquirer of the item (in this case ¥ *"1 who are renting the “wy» D) gives a *23 to
the 1M1 or 751, and when the 1M1 receives the *73, the item is transferred to the receiver.

* moown in X9 7" [X,%] 2,09 P27V explains that anything which is returned to its original owner such as 778w
MW is considered as merely a nX17 n2w, and by X317 N2 the 19°%1 1Ip is not effective as mentioned
shortly in our X773, (See »"n1 and 1w X "92).

> See footnote # 2.

® See mymw Pan.
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